
if X[2] (GWS1) <= 14.0000
samples = 460

if X[4] (CPU frequency) <= 1200.0000
samples = 92

yes

if X[8] (image size) <= 2175156.5000
samples = 368

no

if X[8] (image size) <= 5813042.0000
samples = 46

yes

if X[8] (image size) <= 1333504.0000
samples = 46

no

*L1*
samples = 26

NO (1) / YES (25)

YES

yes

*L2*
samples = 20

NO (11) / YES (9)

*NO*

no

*L3*
samples = 14

NO (8) / YES (6)

*NO*

yes

*L4*
samples = 32

NO (32) / YES (0)

NO

no

if X[4] (CPU frequency) <= 1200.0000
samples = 128

yes

*L7*
samples = 240

NO (240) / YES (0)

NO

no

*L5*
samples = 64

NO (50) / YES (14)

*NO*

yes

*L6*
samples = 64

NO (64) / YES (0)

NO

no


